MAT 011, Functions ano

1. Find the domain
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3. Does the equation describe a function?

a. y=x+1 13”
b y=6 ?w |
g = N0
d 2x—-3y=9 (d‘ﬂ
e. x=3
vho
f. p=g*—3 |;¢o




4. Find f(=2),£(0), f(3) for each function.
a f)=2x15 {27 2(2)-57-9  fw)-TS, $G)206)-s = |
\

b. f)=x*+2 S£CD=(2Vtrle £eo) =2L £G)= Frr=Ul
¢ f)=124x £2)= |~2-tv)|=0 Hn):flﬂ) LGR) = |2-3)1= |

d f(x)=—-x3+2x-6 &K - (DD 26-2) -l = -y Y = -y
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5. Give the point on the graph.
a. fA)=6 | (3,e) ch(-2)=9 (-2,9)

b. g(0) = -3 (o,-2) dr@e) =11  (&,n)

6. Find the domain|of each function.
a. f(x)=3x-+7 (- 0,0

1
b. h(x)=;§ X#-S o (- 09,-5)u (-S,00)

¢ glx)=Ix+1| (- 02, s0)
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7. Find the domain and range of each function or relation. }
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8. Use the graph to find U487 R 2,170 £2%
a. f(0)= ©

b. f3)=23
¢ f)=0x=—8,0 4
d. f(x)=4%= 3-?.':', "3, 8




